ErrataList
of
" Digital Signal Processing: A Computer-Based Approach™, Second Edition

Chapter 2
1. Page 48, EqQ. (2.17): Replace"y[n]" with"x[n]".

2. Page, 51: Eq. (2.24a): DeIete"%(x[n]+x*[N—n])". Eq. (2.24b): Delete

"%(x[n] -x*[N-n])".

3. Page 59, Line5 fromtop and line 2 from bottom: Replace " - cos((wl + Wy — n)n) " with
" cos{(2T1— wy —wy)N) ™.

4. Page 61, Eq. (2.52): Replace"A cod(Qq +k Q7)t+@)" with" A cog +(Qot + @) +k Qt) ™.
5. Page 62, line 11 from bottom: Replace" Q1 >2Q," with" QT > 2|Q,|".

6. Page 62, line 8 from bottom: Replace"2mQ, / wt" with"21mQ, / Q1 ".

7. Page 65, Program 2 4, line 7. Replace"x =s+d;" with"x =s+d".

8. Page 71, line 3 from top" Replace"d[n—4]" with "&[n—3]".

9. Page 79, line 5 below Eq. (2.76): Replace” |a”|" with" $ la"".
n=0 n=0

10. Page 81, Eq. (2.88): Replace"ay .\ + oMoy " With "o 4 A% + L +apnAR - "
11. Page 93, Eqg. (2.116): Replace the lower limit "n=—M+1" on all summation signs with "n=0".

12. Page 100, line below Eq. (2.140) and caption of Figure 2.38: Replace "w, = 0.03" with
"we =0.06TT".

13. Page 110, Problem 2.44: Replace"{y[{n]} ={-1, -1, 11, -3 -10, 20, -16}" with
"IMny={-1 -1 11, -3 30, 28 48}", and
"IMn}={-14-j5 -3-j17, -2+j5 -26+j22 9+j12}"with
"(fnl} ={-14-j5 -3-j17, -2+j5 -9.73+j125, 5.8+j5.67}".

14. Page 116, Exercise M2.15: Replace"r andn” with "r and".

Chapter 3
1. Page 118, line 10 below Eq. (3.4): Replace "real" with "even".
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10.

11.
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15.

16.

17.

18.

19.

Page 121, Line 5 below Eq. (3.9): Replace” § |0(”|" with" S lal"".
n=0 n=0

Page 125, Eq. (3.16): Deletethe stray a.

Page 138, line 2 below Eq. (3.48): Replace "frequency response” with "discrete-time Fourier
transform".

Page 139, Eq. (3.53): Replace "x(n+ mN)" with "x[n + mN]".

Page 139, lin2 2, Example 3.14: Replace"x[n] ={0 1 2 3 4 5 "with
"Ixin} ={0 1 2 3 4 5",

Page 139, line 3, Example 3.14: Replace "x[n]" with "{x[n]}", and "Tk/4" with "2rk/4".

Page 139, line 6 from bottom: Replace"y[n] ={4 6 2 3 4 @ " with
il ={4 6 2 3"

Page 141, Table 3.5: Replace "N[g< -k >\]" with"Ng[<—-k>N]".

Page 142, Table 3.7: Replace "argX[< -k >\]" with "—argX[< -k >\]".
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Page 147, Eq. (3.86): Replace 1 -1 1 _]% with A -1 1 _]%.
-1 4 -1 -ip

-1 -1
Page 158, Eq.(3.112): Replace” ) a"z™""with"- 5 ofzZ7"".

n=—o0 n=-o

Page 165, line 4 above Eq. (3.125); Replace "0.0667" with "0.6667".

Page 165, line 3 above Eq. (3.125): Replace "10.0000" with "1.000", and "20.0000" with
"2.0000".

Page 165, line above Eq. (3.125): Replace "0.0667" with "0.6667", "10.0" with "1.0", and
"20.0" with"2.0".

Page 165, Eq. (3.125): Replace"0.667" with "0.6667".
Page 168, line below Eq. (3.132): Replace"z >|A|" with " [z]>|A]".
Page 176, line below Eq. (3.143): Replace"R " with"1/R ,".

Page 182, Problem 3.18: Replace " X(e™19/%)" with "X (-l ®/?)".



20.
21.
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24,

25.

26.

Page 186, Problem 3.42, Part (€): Replace "argX[< -k >y]" with "—argX[< -k >\]".

Page 187, Problem 3.53: Replace "N-point DFT" with "MN-point DFT", replace
"0<sk<N-1" with"0<k<MN-1", and replace "x[< n>p]" with "x[< n>n]".

Page 191, Problem 3.83: Replace” lim " with" lim ".
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Page 193, Problem 3.100: Replace 10 with " =A| D@

Page 194, Problem 3.106, Parts (b) and (d): Replace" |z| <|a|" with"[z| > 1/]al".

page 199, Problem 3.128: Replace " (0.6)"[n]" with " (0.6)"u[n] ", and replace " (0.8)*[n] "
with " (0.8)"p[n]".

Page 199, Exercise M3.5: Delete "following".

Chapter 4

1.

2.

0.

10.

11.

12.

Page 217, firstline: Replace"&n " with" &y ".
Page 230, line 2 below Eq. (4.88): Replace " 84(w) " with " 8(w)".

Page 236, line 2 below Eq. (4.109): Replace "decreases" with "increases’.
Page 238, EQ. (4.114): Replace "2" outside the square brackets in the denomiantor with "4".

Page 241, line 3 from bottom: Replace" wp" with"wp =1/2".

Page 241, line 2 from bottom: Replace"0<k<L -1"with"1<k<L".
Page 241, last line from bottom: Replace " wg " with "wg =11/ 2".

Page 241, line 1 below Figure 4.24: Replace"0<k<L -1"with"1<k<L".
Page 246, line 4 below Eq. (4.132): Replace" (9C(ej “)" with " Bc(w)".

Page 265, Eq. (4.202): Replace"1,2,K,3" with"1,2,3".

Page 279, Problem 4.18: Replace" |H(ej0)| " with " |H (ej“/4)|

Page 286, Problem 4.71: Replace"z3 =-j0.3" with"z3 =-0.3".



13. Page 291, Problem 4.102: Replace
) 04+052 1412722 +122°3+0527%+0427°,
H(z) = = 7 with
1+09z < +0.2z
0.1+05z 1+045272 +0452 2 +0524+0127,

1+09z2 +0.2z74

"H(z) =
14. Page 295, Problem 4.125: Insert acomma”," before "the autocorrelation”.

Chapter 5

1. Page 302, line 7 below Eq. (5.9): Replace "response” with "spectrum™.

2. Page 309, Example 5.2, line 4: Replace"10 Hz to 20 HZ" with "5 Hz to 10 HZ". Line 6:
Replace "5k + 15" with "5k + 5". Line7: Replace"10k + 6" with "5k + 3", and replace
"10k — 6" with "5(k+1) — 3".

3. Page 311, Eq. (5.24): Replace" G4(jQ —2k(AQ))" with " G4(j(Q - 2k(AQ))) ™.

4. Page 318, Eq. (5.40): Replace "H(s)" with "H,(s)", and replace " with "".

5. Page 321, Eq. (5.54): Replace"dy—1S" with "dN_lsN_l".

6. Page 333, first line: Replace” Q" with "Q p”and " Q" with "Q p2"-

7. Page 334, last line: Replace"-Q ¢ < Q< —Qg" wWith"-Qp; < Q< Ezpl", and
Qsz<Q <Qsl with' Q <

8. Page 349, line 9 from bottom: Replace"1/T" with "2r/T".

9. Page 354, Problem 5.8: Interchange" Q1" and "Q5,".

10. Page 355, Problem 5.23: Replace "1 Hz" in thefirst line with "0.2 HZ".
11. Page 355, Problem 5.24: Replace "1 Hz" in thefirst line with "0.16 HZ".

Chapter 6
1. Page 394, line 4 from bottom: Replace"al phal" with"fli pl r (al phal) "

2. Page 413, Problem 6.16: Replace
"H(z) = by + by + bzz‘l(z‘1+ bz ML +L+ bygz Y+ bz )))% with

"H(z) = by + bz F1+ bzz_l(z_l +bgz 1+ +byz M1+ bz )))H"



o N o v

372 +1852+175,

Page 415, Problem 6.27: Replace™H(z) = =2 ~=

with

M) = 3722 +1852+175,
(z+0.5)(z+2)

Page 415, Problem 6.28: Replace the multiplier value "0.4" in Figure P6.12 with "-9.75".

Page 421, Exercise M6.1: Replace"-7.6185z " with "~71.6185z °".
Page 422, Exercise M6.4: Replace "Program 6_3" with "Program 6_4".
Page 422, Exercise M6.5: Replace "Program 6_3" with "Program 6_4".
Page 422, Exercise M6.6: Replace "Program 6_4" with "Program 6_6".

Chapter 7

1.
2.

7.
8.
9.

Page 426, Eq. (7.11): Replace "h[n—N]" with "h[N —n]".

Page 435, line 4 below Figure 7.6: Replace the transfer function given with
0.954965 - 1.12262872 * +0.9549652 2 .

"G(z) =
@) 1-1.1226287z" 1 + 0.909937 2

Page 436, line 14 from top: Replace " (5.32b)" with "(5.32a)".
Page 438, line 17 from bottom: Replace " (5.60)" with "(5.59)".

Page 439, line 13 from bottom: Replace "higher" with "lower”, and " ész = 2.735355" with
"Qq = 0.577327".

Page 439, line 10 from bottom: Replace the equation here with
_1.393733-0.3332788 — 23617627

S 05773031 0.777771

Page 439, line 8 from bottom: Replace "2.8618058" with "2.3617627".
Page 439, line 7 from bottom: Replace "50" with "40".
Page 440, line below Figure 7.9 caption: Replace "2.8618058" with "2.3617627".

10. Page 440, line 8 from bottom: Replace "0.7810457" with "0.777771".

05095254 0.777771

11. Page 440, last line: Replace the equation with " Q, = =0.4234126".

1.393733 - 0.3332787

12. Page 441, line 5 below Figure 7.10 caption: Replace "0.3494297" with " 0.4234126".
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31.
32.
33.

35.

Page 442, line below Eq. (7.42): Replace" F_l(i) "with"1/ H2)".

Page 442, line above Eq. (7.43): Replace" F_l(“z) "with"F(2)".
N S T
Page 442, EqQ. (7.43): Replaceitwith"F(z) = £ D—ID"-

A

1= 0l-a}z0
Page 442, line below Eq. (7.43): Replace "where |a;|" with "where o ".
Page 443, Eq. (7.47): Replace "0.2172235" in the numerator with "0.13402309".

Page 445, line 5 from bottom: Replace "0.2187917" with "0.218791", "—0.09100602" with
"0.09613592", "0.7460066" with "—0.255685283", and "" with "0.341493".

Page 446, Eq. (7.51): Replace"B(1-a)" with "B+ a)".

Page 448, Eq. (7.58): Replace" w; <w< 1" with"w¢ <o) < "

Page 453, line 6 from bottom: Replace " w, — ws" with " wg —wp".

Page 457, line 8 from bottom: Replace "length” with "order".

Page 459, line 3 from bottom: Replace "length N" with "order 2M".

Page 459, Eq. (7.89): Change equationto " P =1.248(Aw)M *.

Page 465, line 5 from top: Add "at w=w; " before"or in".

Page 500, Problem 7.15: Replace "2 kHz" in the second line with "0.5 kHZ".

: B
. Page 502, Problem 7.22: Replace Eq. (7.158) with "H,(s) = STSQZ
+Bs+Qf
Page 502, Problem 7.25: Replace"7.2" with"7.1".

Page 503, Problem 7.34: Replace"7.15" with "7.14".

Page 504, Problem 7.41: Replace " Hi (¢%) = €1 in Eq. (7.161) with
() = L
Page 505, Problem 7.46: Replace "16" with "9" in the third line from bottom.
Page 505, Problem 7.49: Replace "16" with "9" in the second line.
Page 506, Problem 7.50: Replace "7.26(a)" with "7.25(a)", and "7.26(b)" with "7.25(b)"
Page 510, Exercise M7.2: Replace "Eg. (5.36)" with "Eq. (5.33)".

Page 510, Exercise M7.3: Replace "Program 7_5" with "Program 7_3".



36. Page 510, Exercise M7.4: Replace "Program 7_7" with "M-fileimpinvar”.
37. Page 510, Exercise M7.6: Replace "Program 7_4" with "Program 7_2".
38. Page 511, Exercise M7.16: Replace "length™ with "order".

39. Page 512, Exercise M7.24: Replace "length™ with "order".

Chapter 8
1. Page 518, line 4 below Eq. (6.7): Delete "set" before "digital”.

2. Page 536, Eq. (8.31): Replace"x[n]" with" xg[n]".

3. Page 536, line 5 from bottom: Replace "x[n]" with " x[n]".

4. Page 537, Eq. (8.38a): Replace "x[n]" with " xg[n]".

5. Page 540, line 3 above Eq. (8.39): Replace" G k]" with " Xg[k]" and " H[K]" with " X[ K] ".

6. Page 574, Problem 8.11: Replace
"{2 0 -5 <10 -10 15 90 185 125 -455 -1830}" with

"{2 0 -5 <10 -10 55 -45 40 -125 140 -15".

Chapter 9
1. Page 595, line 2 below Eq. (9.30c): Replace "this vector has" with "these vectors have".
2. Page 600, line 6 below Figure 9.13: Replace"U/T" with "21/T".

3. Page 601, line 2 below Eq. (9.63): Replace " 2P with"27°".
2K _ 212 :
4. Page 604, Eq. (9.76): Replace"2d(K)-1= = fe Y- '%dy " with
0
K2
"2(K /2) -1= ‘/Z [e” gy
To

5. Page 616, line above Eq. (9.121): Replace""l_:r"p" with" R (2)".

6. Page 619, Eq. (9.130): Replace"l =1,2,3" with"l =0,1,2".

—a? 12
7. Page 627, Table 9.5, last entry: Replace" " with " £1%».
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_ Oaz+10, . . Oaz+10
8. Page 651, Problem 9.10, line 2 from bottom: Replace " H:H—akZH with " Ty o E

9. Page 653, Problem 9.15, line 7: Replace "two cascade" with "four cascade”.

-1 -2
+ +
10. Page 653, Problem 9.17: Replace” A »(z) = 192 _?12 2" with
1+ dj_Z + dld 2Z

d2 + d]_Z_l + 2_2 "

"As(z) = .
2( ) 1+ d12_1+ dzZ_2

11. Page 654, Problem 9.27: Replace "structure" with "structures”.

12. Page 658, Exercise M9.9: Replace "alpha” with"a".

Chapter 10
1. Page 692, EqQ. (10.57b): Replace " Py(a 1) = 0.2469" with " Py(a 1) = 0.7407".
2. Page 693, Eq. (10.58a): Replace " P_(a1)" with"P_1(a1)".

3. Page 693, Eq. (10.58b): Replace” Py(a ) = —0.4321" with " Py(al5) = ~1.2963", and
"Po(ag)" with"P(aq)".

4. Page 694, Figure 10.38(c): Replace" P_o(0g)" with"Pi(ag) ", "P-1(ag)" with"Py(ag)”,

"Po(ag)" with"P_4(ag)", "P(ap) " with"P_p(ag)", "P-2(0q)" with"Py(aq)",
"P_q(a)" with"Py(aq) ", "Py(aq) " with"P_q(a1)", "P(aq)" with"P_5(aq)",

" P—Z(GZ) " with" Pl(GZ) "o P_]_(Gz)" with " Po(a 2)", " Po(a 2)" with " P_]_(Gz)", and

" P_l(az)" with" P_Z(Gz) "
5. Page 741, Problem 10.13: Replace"2.5 kHz" with "1.25 kHz".

N-1 i n
Z .

6. Page 741, Problem 10.20: Replace"ZiN:Ozi "with" % g

7. Page 743, Problem 10.28: Replace "half-band filter" with a"lowpass half-band filter with a

zeroatz=-1".

8. Page 747, Problem 10.50: Interchange"Y " and "the output sequence y[n]".

9. Page 747, Problem 10.51: Replace the unit delays"z ™" on the right-hand side of the structure

of Figure P10.8 with unit advance operators "z".
10. Page 749, Eq. (10.215): Replace"3H?(z) -2H%(2)" with "z ?|3H?%(2) - 2H?(2)|".

11. Page 751, Exercise M10.9: Replace "60" with "61".



12. Page 751, Exercise M10.10: Replace the problem statement with "Design afifth-order IR
half-band Butterworth lowpass filter and realize it with 2 multipliers”.

13. Page 751, Exercise M10.11: Replace the problem statement with "Design a seventh-order
IR half-band Butterworth lowpass filter and realize it with 3 multipliers”.

Chapter 11

1. Page 758, line 4 below Figure 11.2 caption: Replace "grid" with "grid;".

2. age 830, Problem 11.5: Insert " g4 (t) = cos(200Tt) " after "signal” and delete
"= cos(200mmn) ".

3. Page 831, Problem 11.11: Replace "hasto be a power-of-2" with "= 0! , Where | isan
integer".



